
Maths - Place value 





Part-part-whole model
● Represented by one object.
● A whole is always bigger than a part

of the whole. 
whole

part part

● Each part will be smaller 
than the whole.

● The parts can be combined 
to make the whole.



Part-part-whole model

5 is the whole;.....is a part and…..is a part. 



Part-part-whole model

5 is the whole; 3 is a part and 2 is a part. 



Part-part-whole model

5 is the whole; 1 is a part and 4 is a part. 



Part-part-whole model

7 is the whole; 3 is a part and 4 is a part. 

4 + 3 = 7
3 + 4 = 7
7 = 4 + 3
7 = 3 + 4



Part-part-whole model



Part-part-whole model

9 is the whole; 4 is a part and …… is a part. 















Tens frame 



What number is represented here?

Tens frame 



What number is represented here?

Tens frame 



What number is represented here?

Tens frame 



Tens frame



Tens and ones grid



Tens and ones grid

What number is represented here?

There is 1 ten and 2 ones. 
1 ten and 2 ones equal 12. 



Tens and ones grid

What number is represented here?

There are 4 tens and 8 ones. 
4 tens and 8 ones equal 48. 



There are 3 tens and 1 ones. 
3 tens and 1 ones equal 31. 

Tens and ones grid



Tens and ones grid

There are 6 tens and 1 one. 
6 tens and 1 one equal 61. 

There are 0 tens and 5 ones. 
0 tens and 5 ones equal 5. 

There are 4 tens and 3 ones. 
4 tens and 3 ones equal 43. 



Activity

Can you do the same with 12 and 17 using tens frame, 
part-part-whole and tens and ones grid? 




